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QUESTION 1

The storage administrator is required to create five zones within the FC SAN. Which Fibre Channel server would be
used to do this?

A. Fabric Login server
B. Name server
C. Management server D. Fabric Controller

Correct Answer: C

QUESTION 2

The latest storage utilization report shows that 80% of the current 500 TB of enterprise storage is allocated. The storage
administrator must specify the amount of additional storage needed for local copies for approximately half of the active
storage.

How much additional storage should the administrator request?

A.400TB

B. 300 TB

C.200TB

D. 100 TB

Correct Answer: C

QUESTION 3

You are installing an OLTP application on a new server. The 1/O profile of the application consists of 100% random read
operations of 8 kilobyte transfers. You need to determine which HBA to use in your application to accommodate 50,000
IOPS.

What is the minimum FC link speed that will satisfy the application\\'s requirements?

A. 1 Gbps

B. 2 Gbps

C. 4 Gbps

D. 8 Gbps

Correct Answer: C
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QUESTION 4

Click the Exhibit button.

Data payload CRC
(2112 bytes) {4 bytes)

Which protocol is represented by the frame shown in the exhibit?
A. FCoE

B. iSCSI

C. Ethernet

D. Fibre Channel

Correct Answer: D

QUESTION 5

You want to prevent unauthorized switches from connecting to your company\\'s fabrics. What should you do?
A. Configure ACLs.

B. Implement CHAP.

C. Deploy FC-SP policy.

D. Implement binding lists.

Correct Answer: C
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